Weok heginni 23.3.30. Matt
nRich ‘Let us Divide! activity

How could you answer these questions using

. Words? Pictures? Numhers? Ohjects? Other ways?

It's Jola's birthday and she is having a party. She
has 24 cup cakes to share equally between 3
plates for the party.How many cakes will go on
each plate?

Jola is going to give everyone some chocolate
eggs to take home at the end of the party.
They fit into egg boxes which hold 6 eggs
each. Will 50 eggs be enough for each of the
8 visitors to have a box to take home?

Division

«  Practise the bus stop method (see examples and questions)

« Reasoning and prohlem solving (choose challenge I, 2 or 3)
e Year 3 (Y3)

e Year 4 (Y4)

Times Tahles

« Practise, practise, practise!

« Times Tahles Rock Stars, Top Marks Hit the Button, Top Marks Daily
10, BBC Super Movers. How creative can you he? One of the year
3s has heen using sweets to help him learn and rememher!



Divide 2-digit numbers by a single digit (no

remainders in the final answer)

Maths Continue to explore sharing and grouping.
We have heen exploring the ‘bus
sto ’ n-Lerwd' ' How many times 57 +3=19
P * does 3 go into 52
Here are some diagrams to help Tt goes into 5 once s 330 mlo 7
and has a : 1
remainder of 2. ) It goes into :
you rememher. \ | times and has

oy

Children may use pictorial aids for support with
table facts and remainders.

Divide up to 3-digit numbers by a single digit
(without remainders)

SHORT DIVISION:

872 + 4 = 185 + 4 =

2 1 3 03 7
W 7°2 5)| 5

Divide up to 4 digits by a single digit, including
those with remainder answers.
SHORT DIVISION:

5309 = 8 =

Divide at least 4-digit numbers by 1 or 2
digits
SHORT DIVISION:

496 = 11 becomes

4 5 ri1

1 1,4 9 6



Weck heaining 23.3.30: Mad

Choose challenge A, B or C. This page does not need to he printed out. Please
write in your yellow maths hook the short date, which challenge you have cho-
sen and make sure you incude the guestion numbers.




Reasoning and Problem Solving
Challenge |

1a. Circle the odd one out.

556+5 40 = 5

65+ 5 51+5

Explain your reasoning.

%

1b. Circle the odd one out.

30+ 2 24 +2

29+ 2 46 + 2

Explain your reasoning.

2a. Mr Flint has a bag of 28 sweets.

He gives an equal number of sweets to
each child in his homework club.

.

How many sweets does each child get?

2b. Priya has a packet of 42 seeds.

She plants an equal number of seeds in
each of the flower boxes in her garden.

How many seeds are in each flower box?
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3a. Solve the problem below.

| am thinking of a number.

When | multiply my number
by 3, | get the answer 39.

What is my number?

¢

3b. Solve the problem below.

| am thinking of a number.

When | multiply my number
by 5, | get the answer 75.

What is my number?

e .-




Reasoning and Problem Solving

4q. Circle the odd one out.

64+ 4 80+4
72+ 4 74 = 4

Explain your reasoning.

4b. Circle the odd one out.

51+3 48 + 3

Explain your reasoning.

ey

5a. Mr Rogers has a box of 51 books.

He gives an equal number of books to
each of his classroom helpers to put on
the shelf.

How many books does each child get?

T

5b. A zookeeper has 64 bamboo shoofs.

She gives an equal number of bamboo
shoots to each of the pandas at the zoo.
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How many shoots does each panda get?

'{:f 3 P3

éa. Solve the problem below.

| am thinking of a number.

When | multiply my number
by 8, | get the answer 80.

What is my number?

W

4b. Solve the problem below.

| am thinking of a number.

When | multiply my number
by 4, | get the answer 52.

What is my number?




Reasoning and Problem Solving
Challenge 3

7a. Circle the odd one out.

60+ 6+2 80+6+2

72+6+2 48 + 6 + 2

Explain your reasoning.

7b. Circle the odd one out.

80+8+2 98 +8+2

96 +8+2 64 =8 + 2

Explain your reasoning.

8a. Jean bakes 78 cookies,

She eats 2 of them, then gives an equal
number to each of her grandchildren.
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How many cookies does each child get?

8b. Mr Stanley has a box of 88 felt tips.

He keeps 4 of them, then puts an equal
number into each of the pencil pots.
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How many felt tips are in each pot?

?a. Solve the problem below.

| am thinking of a number.
When | add 5 to my number
then multiply by 8, | get the
answer 72,

What is my number?

7b. Solve the problem below.

| am thinking of a number.
When | subtract 3 from my
number then multiply by 6, |
get the answer 72.

What is my number?




Answers for all three challenges.

Reasoning and Problem Solving
Divide 2-Digits by 1-Digit 1

Developing
1a. 51 = 5 is the odd one out because 51

does not divide exactly info 5.
2a. 14
3a.13

Expected
4qa. 74 = 4is the odd one out because 74

does not divide exactly info 4.
5a.17
éa. 10

Greater Depth

7a. 80 = 4 + 2 is the odd one out because
80 does not divide equally by é.

8a.12

9a. 4

Reasoning and Problem Solving
Divide 2-Digits by 1-Digit 1

Developing
1b. 29 = 2 is the odd one out because 29

does not divide exactly info 2.
2b. 14
3b. 15

Expected
4b. 53 = 3 is the odd one out because 53

does not divide exactly info 3.
5b. 8
éb. 13

Greater Depth

7b. 98 = 8 + 2 is the odd one out because
98 does not divide equally by 8.

8b. 14

9b. 15




Reasoning and Problem Solving
Challenge |

1a. Match the following statements with
the correct card.

My ecalculation is solved
incorrectly.

'y

J

My ecalculation is solved
correctly.

@2

|

44 4=11 ] [ 33+3=9% ]

¢

1b. Match the following statements with
the correct card.

°o_
? L

| 88+8=11

My calculation is zolved
incorrectly.

J
|

My calculation is zolved
cormrectly.

[3s+3=11]
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2a. True or false? All of these calculations
can be solved without exchanging.

4 =+ 2 = 22
66 + 3 = 22
88 + 8 = 11

Explain your answer.
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2b. True or false? All of these calculations
can be solved without exchanging.

84 + 4 = 2]
5% + &5 = 11
66 + 3 = 22

Explain your answer.

¢ .

3a. Three children have answered 48 + 4.

= .8

Mark
Darcy

@

May

Who is correct? Explain how you know.
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3b. Three children have answered 84 + 4.
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Jan

® =)

Chris

Who is correct? Explain how you know.
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Reasoning and Problem Solving

4a. Match the following statements with
the correct c:urcl.{

.\I

= My caleculation needsz no

exchange.

4
My calculation iz solved

incorrectly.

A
™

My calculation need: to
exchange.

—
A
Py
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4b. Match the following statements with

the comrect card. .
My calculation needs no

e

exchange.
.,
'i I.

il
4
My calculation needs to

J
Y=

My calculation iz zolved

incorrectly.
A

[ 94+7=14 ][ 76 +4=19 ][ 84:-4=21 ]

: 84:7=12 ][ 88 +4=22 ][ 72 +4=24 ]
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54a. True or false? All of these calculations
can be solved without exchanging.

48 4 = 12
66 + 6 = 1
9% + 4 = 24

Explain your answer.

S .

5b. True or false? All of these calculations
can be solved without exchanging.

36 + 3 = 12
22 + 2 = 11
48 <+ 8 = 6

Explain your answer.

W

&d. Three children have answered 70 = 5.

. @

Tom

Who is cormrect? Explain how you know.

S N

4b. Three children have answered 84 = &.
Pam
@
Kim
7R
F

Ben

Paul

Who is correct? Explain how you know.




Reasoning and Problem Solving
Challenge 3

7a. Match the following statements with
the correct card.

My calculation needs no
exchange.

~

My calculation is zolved
incorrectly.

~

S

My calculation needs to
exchange.

A
4
A

~

A

7b. Match the following statements with
the correct card.
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My calculation needs no
exchange.

AN

My calculation is zolved
incorrectly.
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|

My calculation needs to
exchange.

(WY

)

[ 79 +9=11 ][ 91+7=13 ][ 86+-8=10

O
v
[ 77+7=11 ][ 76+8=12 I 82+7=12 ]

mn

8a. True or false? All of these calculations
can be solved without exchanging.

81 + 9 = 9
66 <+ 3 = 22
45 + 3 = 15

Explain your answer.

8b. True or false? All of these calculations
can be solved without exchanging.

98 + 7 = 14
84 + 7 = 12
66 <+ 6 = 11

Explain your answer.

4 B

?a. Three children have answered 98 + 7.

o0

George s
QL) e
Amy

Who is correct? Explain how you know.

?b. Three children have answered 81 + 7.

s -

Carla -
F= N
O
Jen

Who is correct? Explain how you know.




Answers for all three challenges.

Reasoning and Problem Solving
Divide 2-Digits by 1-Digit 1

Developing
1a.44 - 4 =11 is correct;

33 +3=79%isincorrect.

2a. True; all of the calculations can be
solved without exchanging. Children may
prove this by example.

3a. Darcy is correct; 48 + 4 = 12. Children
may prove this by example.

Expected
4a. 94 +7 =14 is incorrect;

76 + 4 = 19 needs exchanging;

84 + 4 = 21 needs no exchange.

5a. False; 96 + 4 = 24 needs exchanging as
90 cannot be divided equally by 4.

é6a. Tomis correct; 20 + 5 = 18. Children
may prove this by example.

Greater Depth

7a. 99 = 9 = 11 needs no exchange;

91 = 7 = 13 needs exchanging;

86 = 8 = 10 is incorrect.

8a. False; 81 = 9 =9 and 45 = 3 = 15 both
need exchanges.

?a. Callum is correct; 98 + 7 = 14. Children
may prove this by example.

Reasoning and Problem Solving
Divide 2-Digits by 1-Digit 1

Developing
1b. 88 +8 =11 is comrect;

36 +3=11isincorrect.

2b. True; all of the calculations can be
solved without exchanging. Children may
prove this by example.

3b. Jan is correct; 84 + 4 = 21. Children
may prove this by example.

Expected
4b. 92 + 4 = 24 is incorrect;

88 + 4 = 22 needs no exchange;

84 + 7 = 12 needs exchanging.

5b. False; 48 + 8 = 6 needs exchange
because there are 4 tens that need to be
shared into 8 groups.

éb. Kim is correct; 84 = 6 = 14. Children
may prove this by example.

Greater Depth

7b. 77 =7 = 11 needs no exchange;

96 + 8 = 12 needs exchanging;

82 =7 =12isincorrect.

8b. False; 84 =7 =12 and 98 = 7 = 14 both
need exchanges.

9b. Jen is correct; 81 + 9 = 9. Children may
prove this by example.




